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1. qunnbsquo€c
tu phir turlphpb pbqs

9puruhp 1-|rtr |unt p /2-3 rnuph\utr/ 2 40

Vpuruhp hp\pnpq luntlp /3-4 inruph\Lut/ 2 50

Uhqhh lum n /4-5 r.nurnt\ruL/ 2 60

Ur{Luq }umrlp /5-6 urruph\urtr/ 2 60

Qhnrudhhn 8 210

uruh\urqruprnhqir ur2iuur.muhpurl|rb nLdfrll 2uLpLupLl!Ll0 40 dLuLI, 2LUPLIPp 5 L!2fuL! mLU 0purih0 on:

Uuh\ruqurprnhqmLl hph]uurhhpf Llhulnr uhnrlnrp;mhp' 9 dud:

ucsnLu3t'L'Irnr.3cu?uobrc,2. euusr'eu5l1r'5 .tr rJ

tr Zururnhph ufullurhnuln Zuruurhpunhh rfhuu]nnn 'Innnpurlulhn

1
S1-rophtr 1 200000

2 afurur{np hur2{uruluh 130000

3 Uhpnqfrur.n urhopthfr ntu.qbml rnhrlLu\tu1 130000

4 2nqtpurtt 120000

5 'Iuruurlrrupru\ 10 120000

6

2ulnnt\ rtrutr\rur.{urpd(1nqnqh4, untplmluh\ur{urpd,
urh$r mftulltruulund.. ) 120000

7 bprud2Lnur\rul-r qh\u{urp 2 120000

8 $frq\myrnrpurlfr hpurhrutrqfr2 1 120000

9 'rhupntunrl g 1 120000

10 '}ruur.nfLupur\]r oqhur\rutr 8,8 100000

11 'Ilulhtuuruqhrn 0,5 1000Q0

12 Fmdpmlp 1 120000

IJ Shrnhu{rup 1 1 10000

14 Qnpbur{urp 0,5 100000

15 funhu-rprup 2 1 10000

16 tunhruprupf oqhur\uh 1 95000

17 Oduhqru\ puh{np 1 93300

18 thpdru\ 0,25 93300

19 L{ugurputlt 0,25 93300

20 Zur{urpurprup 1 93300

21 2hngurqruh 2hnnrg rutr uhqntrfr hu Lup 1 93300

22 cDu\rutLu qnpb- L1t\urpuliurhurlnp 0,5 93300

23 'InbLuLu ruh -{'---':\
'i 93300

24 'ttuhuL .f.i:ll'i,,',i .'-r-\cL.luubLc -;ji -,...J)\ 3 93300
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